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Which fraction model best represents 4 x %?
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Key:   C  

 

Rubric:  ( 1  p o int) Student selects the correct fraction model. 

 

 

 

 

 

 

 

 

 

 

 

Item  Clai m  Domain  Target  DOK  CONTENT  MP  Key   #3   1  NF  F  1  5.NF.B.4  N/A   C 
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Ryan has % pound of chocolate. He divides it into 4 equal portions.

Enter the amount of chocolate, in pounds, in each portion.
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image6.emf
Tyler is 8 years old. His sister Olivia is 4 years less than twice his age.

Write a numerical expression for Olivia's age.
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Key: (2 × 8) - 4 or equivalent expression 

 

Rubric: (1 point) Student enters a correct expression. 

 

 

 

 

 

 

 

 

 

 

 

 

Item  Claim  Domain  Target  DOK  CONTENT  MP  Key  #12  1  OA  A  2  5.OA.A.2  N/A  See exempl a r    
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Select all expressions that are equal to 3 :11
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Exemplar :  (shown at right)

 

 

 

Rubric:  ( 1  point) Student selects the first and last expressions. 

 

 

 

 

 

 

 

 

 

 

Item  Clai m  Domain  Target  DOK  CONTENT  MP  Key   #26   1  NF  F  1  5.NF.B.4a  N/A   See  exemplar 
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Look at the fraction model
shown.

The shaded area represents %

Drag rectangles to the answer
space to construct a model that

represents 3 X %

& o

Fraction Model

Answer Space
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Exemplar:  

Student drags any combination of shapes equivalent to: 

The example shown is just one of the possible combinations. 

 

Rubric: (1 point) Student correctly drags a combination of shapes that have an 

area equal to 

2

9
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Item  Claim  Domain  Target  DOK  CONTENT  MP  Key  #13  3  NF  B  3  5.NF.B.4a  3  See exemplar 
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Enter a value for b that makes this statement true: 5 X b is less than 5
but greater than 0.
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Key: 0 < b < 1 

 

Rubric: (1 point) Student enters any value greater than 0 and less than 1, 

excluding 0 and 1. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Item  Claim  Domain  Target  DOK  CONTENT  MP  Key  #25  1  NF  F  2  5.NF.B.5a  N/A  See below  
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Connor is buying tickets to a concert. The concert
he and his friends want to see costs $4.75 per
ticket. Connor has $26.00 total.

What is the greatest number of tickets Connor can
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Key:  B

 

Rubric:  (1 point) Student selects the correct number of tickets.

 

 

 

 

 

 

 

 

 

 

 

 

 

Item  Claim  Domain  Target  DOK  CONTENT  MP  Key   #6   2  NBT  C  2  5.NBT.B.7  2  B 
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Jasmine solves the equation [ +4 = 363 using this area model.

4
300 1200
60 ?
3 12

Which statement explains how Jasmine should solve for the missing
number in the model?

(a  Jasmine should divide 60 by 4.
(8 Jasmine should divide 1200 by 12.
© Jasmine should multiply 3 times 60.

® Jasmine should multiply 4 times 60.
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Key: D 

 

Rubric: (1 point) Student selects the correct statement. 

 

 

 

 

 

 

 

 

Item  Claim  Domain  Target  DOK  CONTENT  MP  Key   #9  3  NBT  A  3  5.NBT.B.6  1, 3  D 


